
send some scalar fune / sealar field to some scaler fume/ sealer field

divergence

Divergence, carl, gradient all

F= (P, Q, R> (on (P.C28)

div # = Px - 02y * Ra = V•F measures tendency for vecs to flow out of point

Notation TE is dot prod of operator - apply derivative to each entry is.

Ex. F=(*
div # = y

=° exerywhere other(0,o)

Intrition

a radiad field

Everything soureed

Pas Findo = Is r. E dA a ads up net out low of al pointe
net outflow across region

A vec field in ' is source free or magnetic of for all DIRt,

If is source free, them din a=o on domain of #
If domain I simply connected and die F=0, , then I source free

# Fund. operations in vec cal
gradient scolar field a
divengence die: vec field -
curl carl: vec field

Lec 31

# 3D

Notice

Let

Def

here

Def

Then

vec field
scalar field
vec field



curl = = TX=4 measures flow around a point

= (Ry - Qo, PE - Rx, Qx-Py>

In 123, eurle poinds in

Circulation Green's

so F-di = No CourtF) - Te dA

dir of axis of rotation, and Il curl ill measures speed

§ concervative, then 1 (restatement)
If dowain I imply connected, curlino as I coneervative

# 3D curl

Def
viz. §
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